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£1E] ES5ESRTA

1.1 E5DNHE

5 signal) : ¥ERORECETBERELDASHOSECEET 38
BEBE (discretization) : EELEESER LVEVDELCHE TS L.
ST (quantization) : EEESEHEECEMNCER T3 &,

i el

B i [S]




£1E] ES5ESRTA

1.1 E5D7N%E
R DR S BRFEIHEGS BRI C K> TIESZ D4R
)} — — —
E{ﬁ'ft‘-ﬂﬁﬁiﬂﬁ% (continuous-time signal)
ZFrOvES (analog signal)  E#ciRiE

ZABEIES (multi-level signal) it AR

%ﬁﬁ&ﬂﬁFﬂﬂE% (discrete-time signal)

ﬂ')jojb‘IEE% (sampled signal) : g cTH> TILanEs

T4 FIES (digital signal) :H>JILEESEEFLLES



£1E] ES5ESRTA

1.1 E5DNHE

SIAT I\ (system) ANES OEENESY(OICSETZED

ADES hIIES

x(1) y(t)

ERIFEI S, A7 [\ (continuous-time system)

BEEXBFRI S, AT n (discrete-time system)
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1.2 EARBIEGREES
1.2.1 [E5%K{ES (sinusoidal signal)

x(t) = Acos(wyt + &)

t . H%FEﬁ[S]

A : #&1E (magnitude)
wo . AREKEL (angular frequency) [rad/s]
¢ : it (phase) [rad]

wo = 2Tfy

fy : BEES (frequency) [Hz]
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1.2 EARBIEGREES
1.2.1 [E5%K{ES (sinusoidal signal)

FEIRATE
IARTDLTH LT
x(t) =x(t+T)

MDD DEDRBEBEMTHIFIEITDESE, E5x0)SEAMTORRES
CIFEEND.

FICCONZMIZITITEZFET DN, TORTER/INDEHET, =
E*lﬁlﬂﬂ Cl:. ugz/j‘\‘o

x/z, BEXREH(CHIE T Dw, zEBAEERE S5,
2T 1
To =——=—

|| B £



£1E] ES5ESRTA

1.2 EANEGHEES

1.2.2 #ERIBHUYES (complex exponential signal)

x(t) = Ce®

(1) CcEah&BICRADES

a<0
A EIBIES

x(t)

a>0
IBARERIUES
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1.2 BEARNQEGEEES
1.2.2 #ERIBHUYES (complex exponential signal)

x(t) = Ce%t

(2) ab\HEBDES
Cc=1

— pJjwot
x(t) = el®o P,

ExE  |x(®)] = 1,vt
"B £x(t) = wyt

eja)ot — e](l)o(t+T)

T = 2T
0_|CU0|

A1 S —DEEFR

el@ol = coswyt + jsinwyt

Im




£1E] ES5ESRTA

1.2 BEARNQEGEEES
1.2.2 #ERIBHUYES (complex exponential signal)

(2) ab\FEBDIES

e/ @0t = coswt + jsinwyt

e~ /@0t = coswyt — jsinwgt
t — 1( ](1)01: _j(l)ot)
coswot = 7 (e/“o" +e
' t = i( Jwot _ —ja)ot)
Sln(,()o - 2] e e

A, .. . : ,

A . . .
Asin(a)ot + (]5) — ]—2 (e]¢e]wot _ e—]d)e—]wot)

Acos(wot + ¢) = A - Re[e/(@ot+P)]
Asin(wot + @) = A - Im[e/ (@ot+P)]
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1.2 BEARNQEGEEES
1.2.2 #ERIBHUYES (complex exponential signal)

(3) clabEBICIERHBDIEZS
x(t) = Ce*

C =|Cle’? : mmiEsistEs
a =0+ jwy:EFRH
x(t) = |C|ef@e(@+iwnt = |C|eotei(@ot+6)
= |C|e’t cos(wyt + 8) + j|Cle?t sin(wyt + )

1k st + 0 1 ot 0

(@) o< 0DEE RELERK
(b) o=0D&EE  FOK

(c) o>0DEE EINEOE

2)
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1.2 EARBIEGREES
1.2.4 BEfi+ > )VLAES (unit impulse signal)

(1 JOO e e el
: S(t)dt =1 B > ) ULRES (&
5 _ )=, f0<t<A oo ® BT .
A(t) =4A
L0, otherwith 5(t) = 0,ift £ 0 EELUATEEAIC > ULRIES
DfEF0THD.

ERDESx ()T U T TMNKIIT B.

j x()o(t—a)dt =x(a) x()o6(t — a)=x(a)d(t —a)

Sa(t)
- e 1
A o(t)
>
5(t) = lim 8,(t)
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1.2 EARBIEGREES
1.2.5 362428 (rectangle signal)

0, |t|] =0.5
rect(t) = 1, |t| < 0.5

rect(t)

—0.5 0.5
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1.2 EANEGHEES

Lo 2wl == |

1.2.6 fi5{E5

1. t>0
sgn(t) = {—1 t<0

sgn(t)
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1.3 EXFH

ZDODIEEDIESSDH]
f(t) = coswqt + cosw,t

1, BEEATDREIEMES THDIZOH(CIE, BIREDLEANRADKLDI(C
BIER(CIRSIRTNEIRSTIR0N.

w, m

w; N

5 — cost t
BcE)  f(t) = cos 3 T cosy

t t t+T t+T

COS— + COS— = CO0S + cos
3 4 3 4

cos(t + 2mm) = cost

T
§=2nm ZzZnn T = 6mm = 8mn

m=4 n=3 T=24n
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1.4 (E5 DD

Esx(O)N
x(—t) = x(t)

wEizd = {BIES (even signal) &MHENS.
x(—t) = —x(t)

wEiege=. BME5S (odd signal) EMENS.
FEDESX (D), BIEEDEDEVX(D)}EZHEEDEPDOD{x(t)}DHIIC
SRFTBENTE, TNEBSDIRENS.
x(t) =EV{x(t)} + OD{x(t)}
1
EV{x(t)} = E{X(t) + x(—t)}

OD{(D)} = 5 (x(6) — x(~1))



£1E] ES5ESRTA

1.5 ESDEMF
(1) ESDREE

x(t) x(—t)
ARV VNG
0 t 0 t

(2) RE@MRT—V>D

x(t) x(t) x(t)
0 0
(3) ESRRBAERS ‘ ; ’ ;
x(t) x(t) x(t)
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1.6 > A7 LA

HESI AT\ (mechanical system)

> )N b

A8y Bam > f

—AWWW

d?x(t) dx(t)
m dt? +b dt

+ kx(t) = f(t)
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1.6 > A7 LA

EBREIIE (electric circuit)

t — C
°0 i(t) —q(t)

O

d?q(t dg(t) 1
L dig)+R%+Eq(t):e(t)
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